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1. (a) Write down the value of the 2 in the number 37 825

(b) Write down the value of the 8 in the number 7825

(c) Write down the value of the 7 in the number 37 825

2. (a) Write down the value of the 3 in the number 37 825

(b) Write down the value of the 4 in the number 69 437 825

(c) Write down the value of the 9 in the number 9 437 825

3. Use the information that 8× 3 = 24

to find the value of 8× 30

4. {Excludes any where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
(a) Work out 80× 2

(b) Work out 5× 90

5. {Excludes any where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
(a) Work out 400× 6

(b) Work out 4× 7000

6. {Excludes any where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
(a) Work out 40× 20

(b) Work out 20× 400

7. {Includes from strand 4, 5 or 6 where simplest product ends with 0 e.g. 2x5 or 5x6 etc}
(a) Work out 20× 5

(b) Work out 40× 50

(c) Work out 6× 500

(d) Work out 8000× 5
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